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GCSE Exam Questions: Area of a circle

1) A circle has a radius of 5¢cm. Work out the area of the circle.

Circle the correct answer.

(1 mark)
2)  The radius of a circle is 4.5c¢m. Work out the area of the circle.
Give your answer correct to 3 significant figures.
(2 marks)
3)  The diameter of a circle is 15¢m. Work out the area of the circle.
Leave your answer in terms of 7.
(3 marks)
thirdspacelearning.com Helping schools close the maths attainment gap through targeted one to one teaching and flexible resources

1



GCSE Geometry and Measure | GCSE Exam Questions | Area of a Circle 6 T'L"ERADRE“E\]AGCE

GCSE Exam Questions: Area of a circle

4) The area of a circle is 160cm?. Calculate the radius of the circle.

Give your answer correct to 3 significant figures.

(3 marks)
5) The diagram shows a semi-circle within a rectangle. Calculate the shaded area.
Give your answer correct to 3 significant figures.
12cm
(4 marks)
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GCSE Exam Questions: Area of a circle Answers

Question Answer Marks
1) A circle has a radius of S5cm. Work out the 251 cm? 1)
area of the circle. Circle the correct answer.
Stem?* 10w cm? 15t em* 257 cm?
2) The radius of a circle is 4.5 cm. Work out the | w % 4.52 1)
area of the circle. Give your answer correct to
3 significant figures. 63.6 cm? 1)
3) The diameter of a circle is 15 ¢cm. Work out Radius = 7.5 cm 6}
the area of the circle. Leave your answer in
terms of 7. wx7.5% (€))
225
— or56.25n 1)
4
4) The area of a circle is 160 cm?. Calculate the |2 =160 (€))
radius of the circle. Give your answer correct
to 3 significant figures. 2 =50.929... 1)
r=+/50.929...=7.136... (1)
7.14 cm @
5) The diagram shows a semi-circle within a Radius =6 cm 6}
rectangle.
T x 6% =187 ey
\ 12 x 6 — “187” (1)
> 2
- > 152 cm a1
Calculate the shaded area. Give your answer
correct to 3 significant figures.
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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